Test 3a Name: K L
Dusty Wilson v

Math 151 To divide a cube into two other cubes, o fourth power or in
general any power whatever into two powers of the same
denomination above the second is impossible, and | have
assuredly found an admirable proof of this, but the margin is
too narrow fo contain It.

No work = no credit

No Symbolic Calculators

Pierre de Fermat (1601 - 1665)
French mathematician
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Warm-ups (1 pt each): dxx 2 dx\/_— =% dxJx

1.) {1 pt} According to Fermat (see above), how long do you think his admirable proof was?

Hea. g‘l’laug)l.v ik WS %Dfﬁ/@ -tp Ve MS"?,

. (1
2.) {4 pts) Evaluate lim 3xsm(— = SO o
Koo X j' ’
. ] 3 = e 3 ces (.’5}) ‘
Li an 5.#(;’("3 A % -3 &0
P .. o
K2l j_,,.. (g ﬁ
3 =
i -
i e2s U -;g%.
- .
X0 )
3a*

3.) {4 pts) Suppose the derivative of f(x) is f'(x) =3x (x+4)(x+2)2 (x—3)4. At what x value(s)

does f have a minimum, maximum, and horizontal point of inflection?
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4.) (4 pts) A rock is thrown into a still pond. The circular ripples move outward from the point of impact
of the rock so that the radius of the circle formed by a ripple increases at the rate of 3 feet per second.
Find the rate at which the area is changing at the instant the radius is 6 feet.
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5.) (4 pts) Evaluate lim (]_-l-_j % |
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Test 3 Name:

Dusty Wilson
Math 151 ' To divide a cube into two other cubes, a fourth power or in

general any power whatever into two powers of the same
denomination above the second is impossible, and | have
assuredly found an admirable proof of this, but the margin is
toa narrow to contain it.

No work = no credit
No Sineful Calculators
Pierre de Fermat {1601 - 1665}

Franch mathematician

1.} (4 pts) Find and clearly label all local and absolute extremes of f(x) =x"+2x-15 on [—4,4] .
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2.) (6 pts) Use the graph if f to complete the sign diagrams of f and its first and second derivative.
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3.}@" pts) Use calculus to clearly and carefully sketch a graph of f(x) .

fx)=x"+42° +42° =27 (x+2)° Flos e (= -qad =
F(x) =4 +12x° +8x = dx(x+1){x+2)
F(x)=12x" +24x+8=12(x+0.4)(x+1.6)
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Find and label all x-intercepts, extrema{f"gnd éoints of inﬂection.(*‘ﬁwr L
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